Qx16

M8x20mm

®x1

—

5mm

®x

—

emm

®x2

M8x10mm

What's in the box What's in the box Accessories for installing TV
(" N (" N (" N

7 (

Easy to install Easy to install
1 3

O x4

=

Easy to install Easy to install

@ 6mm

A 1 I
© ©
M4x14 M5x14
D 1 Ul
®
M6x14 M8x30
-G 1 N 8
g _
M8x50 5MM
L B
[]
©
15MM
_




Easy to install Easy to install Easy to install Easy to install

9 Part 3 disassembly Composition de I'accessoire 3

B3 Composizione dell'accessorio 3
IN—Y 3 DRRK
Zusammensetzung des Zubehors 3

12 - ~

Desmontaje del componente3

Select appropriate screws from M-A to M-G and install part #7a on the four screw holes on the back

-

5mm

— O

M-I

M-J

15mm

M-I
5mm+15mm

Sélectionnez les vis appropriées de M-A a M-G et fixez la partie 7a aux quatre trous de vis
situés a l'arriere du téléviseur.

4 of the TV. The back of the TV is flat, and the A1 installation method without gasket can be used:; If the Méthode de montage A1 : sans rondelles
gl back is uneven, A2 installation method with washers (M-H to M-J) can be used, and thick washers E Si l'arriére de votre TV est plat, choisissez A1
X2 X2 can be superimposed according to the situation. Méthode de montage A2 : avec rondelles (M-H & M-J)
N - s . Si le dos de votre téléviseur n'est pas plat, choisissez A2, les rondelles peuvent étre

EMAZM-GEIEAENRL, HIM( TaR R ESNSEN ML b SIS ETETEET ampilées o fonetion de ta situation, P

8] MNBREMAIRESR; EEATEITEAMEE M-HEM-J) a2k E AR, ERE T MRER R ) B ) ) ] N
EhEA, Scegliere le viti appropriate da M-A a M-G e montare la parte 7a sui quattro fori per le viti

sul retro del televisore.
y M-A~M-GH\SIBYI B X S EBAT. \—YTa % T L EBEDR URICENFF TR TV TLE < g"eFlOd‘Z di dmft”tlagg'o Al " rO”del.“e N
RN N SERTHIBBE. Ty v —EEDBVRD M IEA R EAL T SV FLEBERTST = A S NV
AR O B 5UI5A. Ty S v — R ESROM A EAZEER LTI 30 (Ty S v — HEAICEDBRTER etodo di montaggio A2: con rondelle (da M-H a M-J) -
N\ <=ET), Se il retro del televisore non e piatto, scegliere A2, le rondelle possono essere impilate a
R seconda della situazione.
\ X Wahlen Sie die entsprechenden Schrauben in M-A bis M-G und befestigen Sie Teil 7a an den Escoja los tornillos apropiados en M-A a M-G y monte la parte 7a en los cuatro agujeros
\ ﬁﬂl vier Sc.hraubenlochern auf der Ruckselt.e des Fernsehers. para tornillos en la parte trasera del televisor.

Befestigungsart A1: ohne Unterlegscheiben Método de montaje A1: sin arandelas

LlJ . . . . . .

sy Wenn fjle Riickseite Ihres Fernsehers flach ist, Wa.hlen Sie A1 9 Si la parte trasera de su televisor es plana, elija A1
Befestigungsart A2: mit Unterlegscheiben (M-H bis M-J) Método de montaje A2: con arandelas (M-H a M-J)
Wenn die Riickseite Ihres Fernsehers nicht flach ist, wahlen Sie A2, die Unterlegscheiben Si la parte trasera de su televisor no es plana, elija A2, las arandelas se pueden apilar
konnen je nach Situation gestapelt werden dependiendo de la situacién

Easy to insta

Easy to install

Easy to install

1L

|__DE

(preste atencion a la necesidad de mantener un cierto espacio entre la
parte inferior del televisor y el soporte, y no toque para causar dafios)

Use a 6mm Allen wrench to adjust the TV backplane to a proper height. \F/erwenhden Sief gline.n r?t.mmHS"(;]hragbenstcrlllijssel, um die Rickwand des
5 (Note that a certain space should be reserved between the bottom of the TV P ernsehers ?u lerc .|ge one einzuste ‘en.

and the bracket. Do not touch it to cause damage.) m (Beachten Sie, dass zwischen der Unterseite des Fernsehers und der

Halterung ein gewisser Abstand eingehalten werden muss. Beriihren Sie

ERemmAAEIRF AR SR EAENSE. ihn nicht, um keine Schaden zu verursachen).
O , o g s N o

GIERERFEMNENRSIEME—ENTIE, V7SR Utilisez une clé Allen de 6 mm pour régler la plaque arriére du téléviseur &

. = . 54 la bonne hauteur.

SmmOABLYFERBLT. 7 LEOBREBI GRS ICHEL T fE L = (Notez que \lljoule; devez garder un certain espace entre le bas du téléviseur
] (FLEDEERZY FE—REDBERHCROUGENSD Y RLTHNTHREZS ALK et le support, ne le touchez pas pour ne pas 'endommager)

SITEET )

) . Utilizzare una chiave a brugola da 6mm per regolare il backplane TV ad
Ajuste la placa trasera del televisor a la altura adecuada con una llave un'altezza ade
; a guata.
hexagonal interna de 6 mm. %)

(Si noti che un certo spazio dovrebbe essere riservato tra la parte inferiore
del televisore e la staffa. Non toccarlo per causare danni.)




